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QUESTION 1

Which statement is true about Cisco Mobility Express?

A. It must be connected to a separate physical wireless controller to provide full enterprise features.
B. It can be deployed in under 10 minutes with an easy 3-stepover-the-air configuration wizard.

C. It comes with a simple, easy-to-use vManage dashboard.

D. Customers must purchase a license to support more than 50 APs.

Correct Answer: B

QUESTION 2

What would be an indicator that a customer could benefit from a Meraki cloud-managed network?

A. Customer needs modular hardware customization and granular, command-line level interfacing

B. Customer prefers direct access to on-premises appliances and servers via in-line terminal management

C. Customer requires end to-end visibility and a network that can be quickly deployed and easily managed by a limited
IT stat

D. Customer seeks to implement a diverse solution of firewalls with 3rd party integration alongside other cloud
application.

Correct Answer: C

QUESTION 3

Which approach describes the high-velocity Cisco Meraki sales cycle?
A. See, Try, Buy

B. Compete, Pilot, Support

C. POC, QandA, Rollout

D. Discover, Design, Demo

Correct Answer: A
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QUESTION 4

What is one benefit of the Cisco 1100 ISR router over the 900 ISR router for mid-size organizations?
A. The 1100 ISR provides support for xDSL types of WAN interfaces

B. The 1100 ISR is compatible with all Cisco switches.

C. The 1100 ISR provides APIC support.

D. The 1100 ISR includes built-in firewall and advanced QOS features.

Correct Answer: C

QUESTION 5

What Cisco AirOS-based controller would you recommend to a customer who needs a physical controller tor a network
up to 150 APIs?

A. Mobility Express
B. Cisco 8540
C. Cisco 3504
D. Cisco WLC

Correct Answer: C
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